Mixed Expanding Brackets

Expand and simplify, where possible:

(a)
(b)
()
(d)
(e)

6(x +5)—4(3+x)
Ry +5)(“4—-y)

a(b + 2a) — 2(ab + 3)
x(3x —2) —2x(1 —x)
(9—-2b)(b+ a)

(Q) 20c+ 1B

(b) 20+3u-2 =

(c> 202-—3-@\0@‘ b

(a) Boc™—"TC

(e) Ab+Aa ~2*- 200

Expand and simplify, where possible:

(a)
(b)
()
(d)
(e)

xX+2+x+7)(x+4)
20—-3y(y+6)
a(a+b)+5a—7ab
(2c=5)(3c—1) +c?
x2— 16+ (x + 4)?

Expand and simplify, where possible:

(a)
(b)
()
(d)
(e)

4w(5 - 2w) — 3(5 — 2w) — 12
(5-2w)(4w —3) —12
(x—=5)(x—2)+5(x—2)
(5¢—ad)(3d —2¢) — 2(c + d)
6(4—x)—(x+1D(x—-1)

(&)yoc*+ 1 20C+ 30
(o) 20 —-33 > \%\\3
(c> 02 __(oab—\- = =8
(&) Tc*-\1er =
(€) 2oc*+BC

(0\3 26 W —BW *-2T
() 26w B 21

et CIll":ZOC
go\i Jed -3a-10c™-20-29

()25 -6 —oc”

Expand and simplify, where possible:

(a)
(b)
(c)

xy(5+x)+ (y+x)2y —x) + 3xy
2a% — (a+2b)(3b — 1) + 4a(b — 2a)
Gy-DH+3)-Cy+3)+7)

5 2 _cu-—X
(o) Bocy+< Q '+ O;té\—;ixb J;Q._\“S

= oCy+2
( b)ml-t%o\g— Co +ax +iab—9a"
= ab—\-o\—r:z\of@b:"—eo‘

_5 ___2\\_32_ g&—\“—&—‘z‘

Come up with your own ‘expand and
simplify’ question where the answer is
5x + 18 and the question contains:

(a)
(b)
(9

Two sets of single brackets
One set of double brackets

One set of double brackets and one
set of single brackets

o 2_u+\9
( );533 3" 333__%
(o) 325 » 2L e

(o) (o*+ 3Yoer () -0t ~tec
€ (ocr 4 c+5) _oc(c+d) 2




